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struct cell{
const int num;
struct cell *next;
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Number 2:

#include <stdio.h>
#define N 4

enum {FALSE, TRUE};

void solve (int board[N][N])

{
int visit[N][N]={0};
if (board[0][0]'=board[N-1][N-1])
printf("0\n");
else
printf("%d\n",recsolve(board,visit,0,0));
return;
h
int recsolve (int board[N][N], int visit{]N][N], int r, int ¢)
{

visit[r][c]=TRUE;

if ((r==N-1) && (c==N-1)) {
return TRUE;

}

if ( (r>0) && (board[r-1][c]==board[0][0]) && (Vvisit[r-1][c]==FALSE) &&
(recsolve(board,visit,r-1,c)==TRUE) )
return TRUE;
if ((r<N-1) && (board[r+1][c]==board[0][0]) && (visit[r+1][c]==FALSE)
&& (recsolve(board,visit,r+1,c)==TRUE) )
return TRUE;
if ((c>0) && (board[r][c-1]==board[0][0]) && (visit[r][c-1]==FALSE) &&
(recsolve(board,visit,r,c-1)==TRUE) )
return TRUE;
if ((c<N-1) && (board[r][c+1]==board[0][0]) && (visit[r][c+1]==FALSE)
&& (recsolve(board,visit,r,c+1)==TRUE) )

return TRUE;
visit[r][c]=FALSE;
return FALSE;
h
Number 3:

#include <stdio.h>
#define SIZE 100
struct cell{

const int num;
struct cell *next;
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struct cell *sort ( struct cell *list )
{
struct cell *current, *prevcurrent, *tmp, *prevtmp;
/* empty list or only one element */
if ( (list==NULL) || (list->next==NULL) )
return list;
/* more than one element in the list */
prevcurrent=list;
current=list->next;
while (current!=NULL){
/*find place to insert current*/
if(list->num > current->num){ /* at the beginning */
prevcurrent->next=current->next;
current->next=list;
list=current;
current=prevcurrent->next;
}
else{ /* not at the beginning */
for (prevtmp=list, tmp=list->next; tmp->num<current-
>num; tmp=tmp->next, prevtmp=prevtmp->next);
if (tmp!=current){
prevcurrent->next=current->next;
prevtmp->next=current;
current->next=tmp;
current=prevcurrent->next;

}
else{
preveurrent=current;
current=current->next;
}
}
b
return list;



